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Chapter 2

Fractions and Mixed Numbers

Section 2.1 — Fractions and Mixed Numbers

Problems
_ 2 _ 2 shaded parts 5. a. 1 week = - month
5 5 total parts 30
| | | | | | b. 30 days = 30 _1 month
30
1 _ 1shaded part c. 60 days = % =2 months

7~ 7 total parts

| | | | | | | | 6. a. Safflower oil

8
b. =~
2. a %:1; thus % is an improper fraction. 10
3  thus = | 28
b. 19 1S less than 1; thus 1g IS @ proper 7 T=7
fraction.
C. % is greater than 1; thus % isan Exercises 2.1

improper fraction. 1 vart shaded
art shade
d. -0, which is less than 1: thus -3 is g, Jharsnaced 1

3 19 2 equal parts 2
a proper fraction.

c. Lis greater than 1; thus 7 isan 2. Mzg
1 1 4 equal parts 4

improper fraction.

1partshaded 1

3. a. 2—56=5 with a remainder of 1. Thus 3 3equal parts 3
2 _gl
5~ 5" 4 4 parts shaded _ 4
47 . . " bSequalparts 5
b. 6= 7 with a remainder of 5. Thus
47 7 5 5 parts shaded 5
- =1=. 5, ¥(0/—— =+
6 6 12 equal parts 12
4. a 53-4x5+3_23 g 2Partsshaded _ 2
4 4 " 8equal parts 8
b 82_7x8+2_58
7 7 7

1partshaded 1

£ 4 equal parts 4

49
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

2 parts shaded 2

4 equal parts 4

3 parts shaded 3

4 equal parts 4

4 parts shaded 4

8 equal parts 8

N AN

Nlw

or0

MO

orl

W= ENJEN

wIN

orl

wlw

N~

9

61
fraction.

is less than 1 and is therefore a proper

61
9
improper fraction.

is greater than 1 and is therefore an

4

17
fraction.

is less than 1 and is therefore a proper

50

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

37.

17

4
improper fraction.

is greater than 1 and is therefore an

8

41
fraction.

is less than 1 and is therefore a proper

9

47
fraction.

is less than 1 and is therefore a proper

8

16
fraction.

is less than 1 and is therefore a proper

14

1
improper fraction.

is greater than 1 and is therefore an

3

100
proper fraction.

is less than 1 and is therefore a

% is greater than 1 and is therefore an
improper fraction.
% = 3 with remainder 1; thus % = 3% .
%6 =9 with remainder 1; thus %6 = 9% :
% =1 with remainder 1; thus % = 1% :
% =7 with remainder 3; thus % = 7% .
% =3 with remainder 5; thus % = 3% .
. % =9 with remainder 1; thus 17 = 9% :
% =7 with remainder 6; thus
B=13=1<.
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38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

51.

52.

%: 27 with remainder 2; thus
8-,
11%1_10 with remainder 1; thus
10 =10%-
%: 32 with remainder 1; thus
%}:32%.
51_7x5+1_35+1_36

7 7 7 7
6%:9x8+1=549+1:%
a1 1 _10x4+1_40+1_41

10 10 10 10

53 _11x5+3_55+3_58

11 1~ 11 11

2
111

11x1+2 _11+2 _13
11 11 1

_13x3+2_39+2_41

2
313 13 13 13

13

3
810

10x8+3_80+3_83

10 =~ 10 10

_1Ix7+2_77+2_179

2
7 11 11 11

,1_6x2+1_12+1_13
6 6 6 6

ol _8x9+7 _72+7 _79
8~ 8 8 8

7

7 hours = 24

day

45_3

45 minutes = 504 hour

51

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

7 ounces = —

1 pound

ioces = B
a. 5 pieces = 3

b. 3 pieces left = g

[ee][4;]

@—1 minute

60

90

0 _11 i
b. Toothpaste: 50 _12 minutes

45_3 minute

60 4

15_1 minute

60 4

a. Dog food:

c. Soap:

d. Cereal:

3

31

25

Single person: 98

16 _ 8

Three persons: 98 = 29

6 _3

Five persons: 98=19

Five persons or more:

2+1_3

Six persons or more: 03

Germany: %
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67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

37

Mexico: 99

.5
Italy: 99

2

Spain: 99

. .2
Switzerland: 99

3 _7

100 20

10 _1

100 10

Payment history, since it contributes most
to the FICO score.

0_ . 4_ ;
4_0 was used; 4 1 remains

1

was used:; 3 remains

4 "4

_1

2 2_1
7 2Was used; 15 remains

3 .1 :
7] was used; 4 remains

180 _ 18 miles per gallon

10

260

13 = 20 miles per gallon

210

0 = 21 miles per gallon

84.

85.

86.

87.

88.

89.

90.

91.

93.

94.

95.

96.

97.

98.

99.

%: 23 miles per gallon

1259;“”'('? 14 s = 350 miles

220 mes - Zlog;:i% = 2228 =11 gal.
340 e - 2109;'2:2% =340 _y

gallons needed. Thus, no you can’t make
it since you need 17 gallons and you only
have 14 gallons.

260 _
20 =13 gallons
. lgallon 240
240 mifes - = =12 gal.
20 mifes 20 :
322
VN =23 mpg

Answers may vary.

. Answers may vary. Sample answer:

%:0 since 0=0-n. No, ncan’t be 0.

Answers may vary.
numerator
denominator

less

greater

0

undefined

100. sum

10

52

a
1.b
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L _ 48 _
102. P/E ratio = 12 4
103. 5 months = % year

2_3x7+2_21+2 _23
104. 7§— 3 =3 =73

105. §_8 with remainder 1; thus 25_81.

3 3 3

17

- 18
proper fraction.

106 is less than 1 and is therefore a

17
107. 7

fraction.

=1 and is therefore an improper

2 parts shaded _ 2

5equal parts ~ 5

109.23 _< 27

Section 2.2 — Equivalent Fractions

Problems

2 _
7" 28
multiplied by 4 to get the denominator
28 so the numerator 2 has to be
2_2x4_38
7" 7x4” 28"
b. %:@ . The numerator 5 has to be
multiplied by 4 to get the numerator 20
so the denominator 6 has to be
5_5x4_20
6 6x4 24°

1. a. The denominator 7 has to be

multiplied by 4. Thus =

multiplied by 4. Thus =

53

110.38 > 31

111. 2|28
214
7 Thus, 28=2%.7

112. 2|72
236
218
39

3 Thus, 72=2%.3?

113. 2180
2/90
345
315
5 Thus, 200=22.32?.5

114. 2200
2100
250
525

5 Thus, 180=2%.52

42 _ 2

2. a. 51-18" The denominator 54 has to
be divided by 3 to get the denominator
18 so the numerator 42 has to be

42 _42+3_14
divided by 3. Thus == 54-51-3-18"

6 _3
b. 20=7" The numerator 6 has to be
divided by 2 to get the numerator 3 so
the denominator 20 has to be divided

6 _6+2 _ 3
by 2. Thus — 20-20=2-10"
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1 1 1 1
3 o 16_ ZxZxZxZ _1
80 ZxeZxeS 5
1 1 1
b 70 2x5x7 14
155 ,5/x31

28}5_28_/(><7_7

4, === =
120 12 ,1l(x3 3

Exercises 2.2

1 3_7?2.3_3x10_30
"5 50'5 5x10 50°
number is 30.

The missing

_4 _ 1x4
?'8 8x4
number is 32.

1_4.1_ _4 .
2. 3 The missing

3 ;_5.; 1x5_ 5
"6 6 6x5 30°
number|330.

The missing

1_2.7_
9 27'9
number is 21.

7x3_21

. The missing

o
X

w
~

3

27.3_

. The missing

5~ 2’5 5x9
number is 45.

6 7 _ 2.7 _7x5_35
" 12760’ 12 12x5 60"
number is 35.

The missing

_5x3_15

3 9

393 3x
number is 15.

7. 12—2 S . The missing

8 21 .11_11x3_33
" 75 15 5 5x3 15°
number is 33.

The missing

1_?2.9_
9'42 16" 2 2x8

number is 72.

9x8 _72

16" The missing

54

10. 5=

11.

12.

13.

14.

15.

16.

17.

18, 12

19.

21.

1_2.51_ 51x9_459
0 90 10-10x9= g0 'Me

missing number is 459.

12_?2.12_12+3_4
15 515 15+3 5°

number is 4.

The missing

H7141472
426" 42 42+ 6

number is 2.

The missing

8 _4.8_8+2_4
2477 24 24:2 12°
number is 12.

The missing

12_4.12_12+3_4
18 7’18 18+3 6°
number is 6.

The missing

21_?.21_21+7_3
56 8’ 56 56+7 8

number is 3.

The missing

36 _?.

?.3 _36+36 _1
1805’ 180 18036 5 "
missing number is 1.

1

@=le4=&

30 Fx15 15
1

1
Zx5

127 gxa
1

1
1B3_ 13 _ 1B
52 2x26 2)(2)(16/

1

-PH

1

27

56 _ 2x28
24~ 2x12
_2x2x14 _ ZxZxZxT _1

T 2x2x6 3

_Zx,Z(xe3_3
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

1 1
45 _5x9 _ BxEx3 _3
1 1

1
180 18 Zx9 9

16}Zf_E_,{x8_8

1 1
231 _ 3x77 _3x7/xM _3
1 1

1 1
91 _7x13_ Ix¥ 1

455_ 5)(91_ 5)(/)(,1/3/_ 5
1 1

46 _2x23_ 23 23
100=9x50=-50 Thisis == 0 of the

personal income tax revenues.

8
100 ~ 25 Thisis 7¢ 25

income tax revenues.

of the corporate

55

33.

34.

35.

36.

37.

38.

40.

41.

460 _ 2x23 1 :
276)6 = 5%6x23-6" The fraction of
the budget to be spent on defense is %
20 _5x4 _ 4 4
365 5x73 73 |Nisis 77 ofthe
days.
100 _5x20 _ 20 20
/E-Ex73- 73" Thisis == 7 of the
days.
36_4x9 _ 9 9
80 = 4%20-20" Thisis = 20 of the
water used per day.
26 _1x26 _ 1 .
a. 52 = 9% 26" 2 of the deck is red.
13__1x13 _1 .
b. 52 = 2% 2x13 4ofthedeckls
hearts.
4 _ 1x4 _ 1
C. 5= 2% 2x13 13 of the deck is
Kings.
210 21 3x7 _1 1
63}5_63_3><21_3' He got a hit 3 of
the time.

. 3 and 1. 3x2=6>5x%x1=5 s0 §>l.

5 2’ 572
The recipe calling for % cup takes more
sugar.

o 4500 _ 45 _5x9 _ 9

10,000 100 5x20 20

9 1.
b. 20 and5 9x5=45>20%x1=20 so

9.1 -
20 > 5 The dumping of sewage was
greater in the first year.
ZxZxZx% 1
96 Z IxZx Z{x4 Heuses.4

of his time in shopping and paperwork.



Bello, Basic College Mathematics, 3e ISM

Chapter 2: Fractions and Mixed Numbers

42.

43.

44,

45.

46.

47.

48.

49,

50.

51.

ZxZxEx3

_ 3
96 Z Zx2x,§x4 . He uses 3
of his time doing housework.
12 _ 'Z 'Z ,2( 1 . He uses 1
96 Z Zx 2x,3(x 4 8
of his time doing kitchen work.
IxZxZxE _1 1
96 Z Z Z Zx4 1 He uses = 4
of his time caring for the family.
200 % . The fraction of a
Big Mac that is protein is %
4ﬂ/ Zx 'Z . The fraction of a
200 ZxZx5
Big Mac that is carbohydrates is % :

,5/x7
200 /5,)(40 40 The fraction of a
s
Big Mac that is fat is — 20"

Zx9

The fraction of the 2

140 Zx7o 70

slices that is protein is =

9
70°

52 ZxZx13_13
140 —Z ngs 35 The fraction of

the 2 slices that is carbohydrates is ==

13
35°

Zx3

The fraction of 2

140 ~Fx70 70

slices that is fat is

a

3

70°

S5
" 258
10 _ 5
' 258 129

56

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

54 _9
& 258~ 13

53
0 258

A4 _ 2
258 129

4 _2
b 358 =129

o 16_8
- 258 129

9_3
b. 258 86

25
258

37
b 258

25_5

0°-6 or“5to6

20

3 =4 o0or“4tol

P/E ration =

200 Z 1

a —_
5600 7Zx2x14 28
1_ 2
b. 208000
to be multiplied by 400 to get the
denominator 8000 so the numerator 1
has to be multiplied by 400. Thus

1 1x400 _ 400
20 = 20x 400 — 8oop 2d S0 400

teachers are needed.

or “1to 28”

The denominator 20 has

Answers may vary.

Answers may vary. Sample answer:
lagd

> and 3"

Answers may vary.
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63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

Answers may vary.

Answers may vary.

6_)(3=,Z'3',X/'/X/'X=ﬂ

8x? Z.2.2.X-X 4

8’ _ Z-2-2-X-X-x_ax
6x> 734X 3
12x' _Z-2- 8- X X Ax_2x
188 Z-Z3-X-X-X 3
16x° _ M- XXXXX 1
32x7 2 X XXX Xxx 2x2
equivalent

a-c

b-c

reduced

product

3_

£= 25 The denominator 5 has to be

multiplied by 5 to get the denominator 25
so the numerator 3 has to be multiplied by

3 3x5_15
5 Thus =7 ==25"

4

9= 2—,74 The numerator 4 has to be

multiplied by 6 to get the numerator 24 so
the denominator 9 has to be multiplied by

4 4x6 _ 24
6. Thus = Ox6-54"

75.

76.

77.

78.

79.

80.

81.

92 =

102 =

9 _ 2
75°25°
divided by 3 to get the denominator 25 so
the numerator 9 has to be divided by 3.

The denominator 754 has to be

9 _9+3_3
Thus 25=75-3"25"
4 _ §. The numerator 54 has to be

90 ?
divided by 9 to get the numerator 6 so the
denominator 90 has to be divided by 10.

Thus 24 -54+9_ 6

90 90+9 10°

0_ Bx4 4

115 gx23 23

s4_ZxAxAx3_3

90_Zx,8{x,8{x5_5

33_8x3+3_24+3_27
8~ 8 8 8

_10x7+9_70+9_79

9
) 10 10 10

10

101

11 11

10x13+2 _130+2 _132
13 13 13

13

1_56
112=%

Section 2.3 — Multiplication and Division of Fractions and Mixed Numbers

Problems

57
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2. a. Ground beef:
1,1_13_13_3_1
313327327672 P

1,21
b. Veal: 3 1 3 Ib

+12-130:71-130.2-650_gy6
8. 130.15_130. 5 130 7= 927
About 93 brushings are possible.

9 Area=4l.52_1317_221_,,5 yd?

They can afford $102,500 home.

11_11_1 373 33 9 79
¢. Onion: 3 71°3.4"12 cup
1,.12_2 :
d. Salt: 3 2= 3°1°3 tsp Exercises 2.3
11_1 :
e. Garllcsall 1§§-6tsp 1 %%=3_g=%
f. Pepper g-gzgtsp 271
"33 9
% A A
143_5 £ A _
1313 /(gygl 3 L1
1171 g7 7
2\'_2.2.2_8 Ba_a
a E) =555 105 " 9 g9
b (1;):(5)2:5 5_25
4 4] 4 471 c 2 B 2
11 "B 373
c (2)2 (gl)zz.zﬁﬂ
3 4
pEA 6 %.%zg
a 2.3.58_40
T T778T 73 21 7. 3.2.3.2_6 41
b, 3.7-3.1_3 5 15 55
4 47 28
3,721 451
) 8. ) 7= 4 or54
o 51.3_11.3_11 A _2
2747274 4 373 g % .
1 9. L. L ==
3 zﬁ/ 51 2
b 6.31_6.22_8 7 _3
TTTTTTT T 4 1 %
1 10 E7=2
20,500
- 21.41.000= 5. 2% _102 500 715 3 1
2 ,Z 1 11. EE=§ orl=
1
1 2

58



Bello, Basic College Mathematics, 3e ISM

Chapter 2: Fractions and Mixed Numbers

—|N
™
—
[{e} 11 7_2
5 5 it I
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o Tol ™| — —
2_4 2_m X X ™
[ Il RN ~|eq I
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1l 2\) o~ L0 X ™ <t
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< | B ™ — — — .
i W = 9___/4/ /@u,___/../1 I I I 0
Il PN —|N |~ Il
Z/M.»_/opl 4/00/_/_/ oo 4w7 1Q_.u9 7__ < o~ 1_A__.3
. : < . | —|n ™m0 N
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57. 3

58.

59.

60.

61. square miles
25

62. a. =50 Ib

RIbi

b. £100=2x190 = 280 or 66

R 3

It will serve about 67 people.

63. =-—-==172 people

1=

18
80 _ 72
1

[$2]F

64. ====12 minutes

ullw

65.

66.

61

67.

68.

69.

70.

71.

72.

73.

74.

75.

76.

=8 turns

8
i
4

a. 7x40=280 rods in 7 furlongs
20

b. 40~161=ﬂ %- 660 ft in a furlong

1
C. 660x7=4620 feet

B 1

5.91_

£=17 =11 liters

sz

% ~114 _ 114 grams
1

2
M 57

2_
10-11E =2

13
8036l 403 §; 403

5 6% = =13 gal

£
i
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132.91_67 .19 _1273_,»7 3

189 9 .1 LT - i
77. W:§:1§ grams 92. £ 955 5170 10 S4- M-
1.,4_21 64_1344 _,o,2
78, %=1% grams 93. 102 125 5510 1345 sg. in.
1 ,1_319_219_1519 .
79 B8 _13_11 (o 9. 39543710 2= 20 ~ B san
129 12 712
9
230 23 .1 05, 153:31.63,.7_88 Z_9_,1 4
%0 g =221y 9ram ARV & A
81. 36x2%=36x%=96 miles 5
96. 655651 —p55.131_ 555 2 _
2 2 1 131
82. 36x2%=36xg=81 miles 1

4 You can do 10 jobs.

83. 36x42=36x1% =168 miles 18
3 3 1_86 7 :
97. 36x3==2—-—=126 miles
108 217
108 _ 4 ; 1
84. 36 3 inches
5
60 3 7
© 36 36 9 3 1
9
)13%
31 _’]___ i_
279 279 ﬁ_ 3 99. 36x2§— 1 Z_90 miles
86. = — === miles
6 36 4 4 1
4
1..1_93_27_,3;
100. 4=x1===-2==-=6= inches
67, 43.53.35.23_805_,55 (i 272722747,
7848 4 32 32
1 .1 _55_25_n,1.
101. 2=x1-==.=====3= inches
gg. 5L.71_21.29_609 38—sq in. 24 24 8 8
T4 AT 44 16
102. Answers may vary.
1 51_3319_627 3 :
89. 43:92=% 2 =16 ~ 397 4" 103. Answers may vary.
1_57_35_,51 . 104. Answers may vary.
90. 532_1 5= 2_172 sg. in.
105. Answers may vary.
91. 91-42 37,14 _518 43l sg. in.

106. Answers may vary.

43743712 6

62
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107, 2:C 8.,2.8.8_8.3_3
b-d 116.5.23 cT3=C ;8{ S
108. %g 117. 3154210, 14 _140 _155 o vy
373737379 g “H v+
100. 2-%:%-%:% cup 118. 84=2x 42
=2x2x%x21
Z 5 9 =2%x2%x3%x7
110. 2. £ =% =22x3x7
545
3 53 15 3 119. 128 =27
111. 5-===.= == or 3=
4 14 4 4 120. 72 =9x8
3 =(3x3)x(2x2x2)
3y _333_27 _ 3y 32
112'(4) 44476 %
, 121. 180 =10x18
113 (§) .(1l)=§.§.§=ﬂ =(2x5)x(2x3x3)
“\4 2] 4 4 2 32 =22x32 x5
114 3.2_3.3_9 122. 105=5x21=5x3x7=3x5x7
573 52 10

123. 900 =9x100

115.13.2.8.2_8 B _8_, = (3x3) x (4x 25)
: 573_375_3'?_5_ =3x3x2x2x5x%x5
=2%2x 3% x5°

Section 2.4 — The Least Common Multiple

Problems
1.6 12 18 36 5. a. Mutiplies of 10: 10, 20, 30, ....
Since 30 is a multiple of 6, LCD = 30.
8 16 [24] 32 40 b 3_.3x3_9 .41 _1x5_5
The LCM of 6 and 8 is 24. 10 10x3 30 6 6x5 30
210 20 30 40 50 70 6. a. Mutipliesof 7: 7,14, 21, 28, 35, ....
Since 35 is a multiple of 5, LCD = 35.
12 24 36 48 [60] 72 84 L 3_3x5_15, . 4_4x7_28
The LCM of 10 and 12 is 60. "7 7x5 35 5 5x7 35

3. Multiples of 18: 18, 36, ....
The LCM is 36.

4. Since 39 is a multiple of 13, the LCM is
39.

63
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7. 40=2%.5
12=22.3
LCD=2%-3-5=120
-0OR -

N

40 12

20 6

10 3
LCD=2-2-10-3=120

N

8. 2
2

1

6
3

[oo
)
H
~

=1

[~

2 7
LCD=2-2-2-3-7=168

9. a. The denominators are the same and 3

3.2
17717
b. The LCD of 5and 9 is 45.
lzlxgzi and 2=2X5:ﬂ
5 5x9 45 9 9x5 45
9 _10 1_2
45<45,Wehave 5<9.

is greater than 2 so

Since

Exercises 2.4

1. 8 16 24 32 |40| 48

10 20 30

The LCM of 8 and 10 is 40.

2. 6 12 18 24 [30] 36
10 20 [30]

The LCM of 6 and 10 is 30.

3.16 32 [48] 64 80
24 (48]

The LCM of 16 and 24 is 48.

4.21 42 63 70

28 56 [84]

The LCM of 21 and 28 is 84.

64

5.

10.

11.

12.

13.

o [18] 27 36
18] 36

The LCM of 9 and 18 is 18.

30 90 120 150
120

The LCM of 30 and 60 is 60.

14 28 [42] 56 70
21

The LCM of 14 and 21 is 42.

80 160 320
120

The LCM of 80 and 120 is 240.

30 90 120 150 180
15 30 45 75 90

The LCM of 30, 15, and 60 is 60.

15 30 45 [60] 75 90
20 40 90 120 150 180

30 [60]

The LCM of 15, 20, and 30 is 60.

Since 6 is a multiple of 3, the LCD of 3
and 6 is 6.
1 _1x2_2.1; : :
3°3x2-6'6 is already written with
the LCD.

—15- 2_6 1
LCD = 15; E=1¢8 and 15
Since 21 is a multiple of 7, the LCD of 21

and 7 is 21.

11 is already written with the LCD;

1_1x3_ 3

7 7x3 21
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

-9 2 3
LCD=9; 9 and 9

Multiples of 10: 10, 20, ....
The LCD of 4 and 10 is 20.
3_3x5_15. 1 _1x2 _ 2

4 4x5 20°10 10x2 20

Multiples of 15: 15, 30, ....

- 7 _21.4_38
LCD =30. 10 30’15 30

Since 24 is a multiple of 12 and 6, The
LCD of 6, 12, and 24 is 24.
1_1x4_4 .1 _1x2 _2.1

6 6x4 24’12 12x2 24° 24

Multiples of 15: 15, 30, ....
LCD = 30.

7_14.3_9.

-14.3_9.1_5
15 30'10 30'6

10 6 30

Multiples of 20: 20, 40, ....
The LCD of 5, 8, and 20 is 40.
3_3x8_24.5_5x5_25.
5 5x8 40’8 8x5 40°
7 _7x2 _14

20 20x2 40

Multiples of 24: 24, 48,72, ....
LCD=72.

2_16. 7 _42.11_33

9 72’12 72’24 72

18=2-32
24=2%.3 LCD=2%.3*=72
1 _1x4 _ 4.1 _ 1x3 _ 3

18 18x4 72’ 24 24x3 712

15=3.5

45=3%.5 LCD=3%.5=45
3_9.2

15 45’ 45

32=2°
80=2%.5; LCD=2°-5=160
1 _1x5 5 .1 _ 1x2 _ 2

32 32x5 160’ 80 80x2 160

65

24,

25.

26.

27.

28.

29.

9=3°

12=2%2.3 LCD=2%.3=36
2_8.1_3

9 36’12 36

4=2°

10=2-5; LCD=2%?.5=20
3_3x5_15. 3 _3x2 _ 6

4 4x5 20’10 10x2 20

20=2%.5
15=3.5; LCD=2?-3-5=60
7 _21.4_16

20 60’15 60

216 12 24

23] 6 12

33 3 6

11 2

LCD=2.2.3-1.1.2=24
1_1x4_4 .1 _1x2 _ 2.1
6 6x4 24’12 12x2 24' 24

55 51

111
LCD=2-3-5-1-1-1=30
7_.14.3_9.1_5
15°30°10 30'6 30
2[5] 8 20
2[5] 4 10
552 5

121
LCD=2-2-5-1-2-1=40
3_3x8_24.5_5x5_25
5 5x8 40'8 8x5 40’
7 _7x2 _14

20 20x2 40
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30. 2[9] 12 24
2[9] 6 12
39 3 6

31 2
LCD=2-2-3-3-1.2=72
2_16. 7 _42.11_33
9 72'12 72’24 T2

31. Since the denominators are the same and

7

7 is greater than 5, 3

is the greater

number.

32 L

9 is the greater number.

33. Since the denominators are the same and

5

57 is greater than 4, 11 is the greater

number.

34. % is the greater number.

2_2x5_10 5y 4_
3. 375515 g

4x3_12

5x3 15

2 4
35"

Since 12 is greater than 10,

4

36. 3

%: and 5 is greater than 4 so = >

oo ol
N |-

37. Since 5 is greater than 4, 1% 512,

7

6

38.

Nlw

and 7 is greater then 6 so

<8

oo
Nlw
00|~

2_2x8_16 . 3_3x7_21
8 8x7 56

7= 7xs 56
Since 21 is greater than 16, 11% < 11%.

39.

66

40.

41.

42.

43.

44,

45.

46.

47.

1.5 4q2.6

3715 M 515
1 .2

than 56, 6= <6=.
3°°5

Since 6 is greater

20=2%2.5 and 30=2-3-5
LCM=22.3-5=60
You have to wait 60 minutes.

2]10 20 45
5/ 5 10 45
1 2 9
LCM=2.5.1.2-9=180
You have to wait at least 180 minutes.

17=1-17 and 13=1-13
LCM=17-13=221

It will be 221 years before they both
emerge togther again.

a. 15isamultiple of 3so LCM =15.
The cicada will face the predators in
15 years.

b. The LCMof 3and 17 is 3-17=51.
They will face the 3-year predators in
51 years.

26 2 4

312
LCM=2-3-1.2=12
You will have to take all three
medications again in 12 hours.

2|6 2 412
3312 6

1112
LCM=2-3-2=12
You will have to take all four medications
again in 12 hours.

The LCM of 5 and 4 is 20.
They will be made fresh again in 20 days.
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48.

49,

50.

51.

52.

53.

54.

55.

56.

o7.

2[5 4 2
521
LCM=2.5-2-1=20
They will have fresh tamales and pastries
made with fresh meat in 20 days.

4=2%and 3=1-3s0 LCM=2%-3=12.
They will be delivered in 12 days.

2|30 453
315 253
55251

1211
LCM=2-3-5-1-2-1-1=60
All four products will be delivered again
in 60 days.

2(12 30 2

36151

251
LCM=2-3-2-5-1=60
It will take 60 years, so in 2060 the
alignment will happen again.

2112 84 2
216421

33211

171
LCM=2.2-3-1-7-1=84
It will take 84 years.

230 84
3115 42
514

LCM=2-3-5-14 =420
It will take 420 years.
Answers will vary.
Answers will vary.

a. Answers will vary.

b. Answers will vary.

They are the same.

67

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

LCM
LCM
numerator
LCD

Since the denominators are the same and

5

i 4_5
4 is less than 5, <11.

11

3_38x4 _12 41 _1x11_11

11 11x4 44 4 4x11 44

Since 12 is greater than 11, 3 >l .

11 4

12=2%.3 and 14=2-7
LCM=22.3.7=84

45 is a multiple of 15s0 LCM =45

2110 3 14

537
LCM=2.5-3.7=210

LCD=7-5=35
3_3x5_15.4_ 4x7

7 7x5 35’5 5x7

oo|r\>
1|00

40=2%.5 and 18=2.3?
LCD=2%-32.5=360

6=2-3,20=22.5,and 9=3?
LCD=22.32.5=180

1_3.1_4
8 24" 6 24
5_5x8_40.3_3x9_27
9 9x8 72'8 8x9 72

1_15.1_10.1_12

8 120’12 120’10 120
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Section 2.5 — Addition and Subtraction of Fractions

Problems
2,3_2+3_5 b. 5/15 20
Lagvy=1 1 3 2
b.1,3_1+3_4_1 LCD=5-3-4=60
8'8 8 8 2

. Multiples of 8: 8, 16, 24, 32, .... Since 6

goes into 24, the LCD is 24.

3_3x3_9 1_1x4 _ 4.
8=8x3-24 M 5 6x4"24"
3,1_9.,4_13
876 24 24 24

. Multiples of 9: 9, 18, 27, 36, 45, ....
Since 4 goes into 36, the LCD is 36.

3_3x9 2—7and _5x4_20.
4~ 4x9 36 9 9x4 36’
3,5_27,20_47 .11
4797336 3636

. 40=2%.5

12=2%.3

LCD=2%.3.5=120

1 _1x3 _ 3 5 _5x10 _ 50 .

40~ 40x3 120" 12 12x10 120’

1.5_3 ,50_53
40 12120 120 120

: Multiples of 12: 12, 24, 36, 48, 60, 72, 84,

. Since 8 and 9 goes into 72, the LCD

7o 1_1x9_9 1_1x6 _6
8 8x9 72' 12 12x6 72
1_1x8_38.
and 5=9.8=72"
1.1.1_9_ .6 8_23
8 1279 T T2 2T 2T
Ca 212 10
6 5
LCD=2-6-5=60
7 _7x5_35 1 1x6 _ 6.
12 12x5 60’ 10 "10x6 60’
7 1_.35 6 _35-6_29
12710 60 60 60 60

68

8.

11 _11x4 44 3 L 3x3 _ 9.

15 15x4 60’ 20 20x3 60’

113 _44 9 _44-9 _35_7
60 60 12

15 20 60 60

.a 218 69

34 39

41 3
LCD=2-3-4.3=72
3_3x9_27 1_1x12

8 8x9 72' 6 6x12 72

_12

_2_27,12 16

7272 72

_27+12-16 _23
72 72

b. 8=23
3=1.3
12=22.3
LCD=2%.3=24
7_7x3_21 1_1x8_ 8
8 8x3 24’3 3x8 24’
11_11x2 _ 22.
and 5= 1ox2 = 24"

71,11 _27_ 38

22

873712724 24724
_27-8+16_35 .11
24 2515

o 37,1 _37 10 _47

100 10 T 100 "100 ~ 100

The fraction of the students having
47

brown or gray eyes is —— 100"

b, 1,33 _20 33 _ 53
57100 100 100 100

The fraction of the students having
53

green or blue eyes is — 100



Chapter 2: Fractions and Mixed Numbers Bello, Basic College Mathematics, 3e ISM

Exercises 2.5

1,1 141_2 7,3_7,6_13,45
1. 3+3 3 3 14. 8+4 8+8 8orl8
0 1.2_3 15. The LCD of 2and 5 is 10.
=4+ £=2
5755 1_1x5_5 .4 4_4x2_8.
2" 2x5 10 "5 5x2 10’
1,4 _1+4_5 1,4_5,8_13,13
3 377773 >*5-10710 10 " Y10
1, 7_8 5,3_25,9 _34_17 ;.12
4 37979 16 %10°30730"30 15 ' 15
5 2,4_2+4_6_2 17. The LCD of 7 and 14 is 14.
9'9° 9 9 3 4_4x2_8.
7 7x2 14"
3.5.8_ 4.3_8.3_11
6. 3+tg= 871 771471414714
1,5_1+5_6_ 1,11 2 ,11_18 41
576 6 6 % B s ot e %%
2,10_12_4 o 41 g l_1x4 _4.
8. 9+9_9 3orl3 19. The LCD of 2 and 8 is 8. 5= ox4"8"
1, 3_4.3_7
9. 3,5_345_8_, 2"8"8'8 8
47474 T2
5,1_5,2_17
0 6.8_14_, 20 56Tt 12
- 7v7°7
21. 2|40 18
11. The LCD of 3and 5is 15. 20 9 LCD=2-20-9=360
1_1x5_5 441 1x3_3. OR-
373x5 15 " 5 5.3 15 o5 OR
1,1.5,3_8 =2
3'5 15 15 15 18=2-3
LCD=2%.32.5=360
10 1,1_3,2_5 1 _1x9 _ 9 1 _1x20 _ 20 .
26T 12T 12712 40 20x9 360 18 18x20 360’

1,1_9 .2 _29
40 18 360 360 360

13. The LCD of 2and 6is 6. 1 =13 :%;

1,1.3,1_4_2 2 5,7_25,28_53
2 6 6 6 6 3 24 30 120 120 120

69
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23.

24,

25.

26.

65=5-13

26=2-13; LCD=2-5-13=130
-OR -

1365 26

5 2
LCD=13.5.2=130
2 _2x2 _ 4 3 _3x5_15.
65 65x2 130 26 26x5 130’
2.,.3_4 ,15_19

65 26 130 130 130

120=2%.3-5
150=2-3.5°
LCD=2%-3-52 =600
;11 _ 7.5  11-4
120 ' 150 120-5 ' 150-4
_35 44
600 © 600
_19
600

2120 180

2| 60 90

3 30 45

510 15

2 3 The LCDis2%-3%.5=360.
- OR -

120=2°.3.5
180=2%.32.5
LCD=2%.32.5=360

7 _ 7x3 _21 1 _

7,1 _21, 2 _23

120 ' 180 360 360 360

90=2-32.5
120=2%.3-5
LCD=2%-32.5=360
1,7 _14 73
90 "120 904 '120-3
360 ' 360
_25

360

_5

72

_ _ _1x2 _ 2 .
120 120x3 360" 180 180x2 360’

70

217.

28.

29.

30.

31.

32.

33.

34.

Multiples of 60: 60, 120, .... Since 10
and 20 goes into 60, the LCD is 60.

3.7 . 11_36 7.3 11
10720%50°10.620.3" 60
_18,21 11
60 60 ' 60
_50
60
5
6
5,7,5 20,2110
9712718736 36 ' 36
_51
36
17 o 15
=12 o153
214 6 9
37309
7 13 sothe LCDis2-3-7-3=126.
11 5.8 11.9 ,5.21_ 8-14
147679149 6217914
99,105 112
=126 7126 T126
_316
126
_158 .32
o3 % %%3
5.1.7 520,19 7.8
36180790 " 36.20 T80.9 1 90.8
100, 9 . 56
=720 77207720
_165
720
_11
48
3.1.3-1_2
77777 7
5.2_3
8 8 8
5.1_5-1_4_2
6 6 6 6 3
3.1_2_1
8 8 8 4
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35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

The LCD of 12 and 4 is 12.

S5 1.5 13_5 3_2_1
12 4712 43 12 12 12 6
1112 1 2 1.1
36 326 6 6 6

The LCD of 20 and 40 is 40.
5 7_5.2 7 _10 7 _3

20 40 20-2 40 40 40 40

7 3_7-2 3_14 3_11

10 20 10-2 20 20 20 20

The LCD of 8 and 12 is 24.

7 5_7-3 5.2 _21 10_11
8 12 83 12.2 24 24 24
8 2 _85 23 _40 6 _34
15 25 155 253 75 75 75
2160 48
2130 24
315 12
5 4 sotheLCDis2-2-3-5-4=120.
13_1_13.4 15
60 48 60-4 485
52 5
240 240
_A4r
240
19 7 _195 72
24760 245 60-2
_95 14
120 120
_81
120
2
40
8 2 1.8-2-1_5
99 9 9 9

71

47.

48.

49.

50.

51.

52.

53.

7.3_2_7-3-2_2
11 11 11 11 11
The LCD of 4, 12, and 6 is 12.
3,5 1 33,5 12
1276 43712762
_ 9,5 2
12 12 12
_9+5-2
12
_12
12
=1
§+;_;:5-6+1-4_1‘12
6 9 3 6:6 94 3.12
30,4 12
36 36 36
2
36
_u
18
The LCD of 2 and 3 is 6.
9 7.93 7.2_27 14_13 ,,1
2 3 2. 2 6 6 6 6
11_7_11-4 7.5_44 35_9
5 4 5 -5 20 20 20
3,3,1_38,34 1
478732748824 3
_24,12 1
32 32 32
37 515
=32 o133
37 5). .
The result is 7 (or132) in. thick.
1.1.1,.2_3
4772 4+4 4
Thisis = 4 3 Ibof candy.
1,1,1.2,4,1_7
4+2 5 8+8+8 80fh|sestate
was left to his daughter, wife, and son

together. Thus 1-1

8

7_1

§ s of his

8_
8

estate remains.
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54.

95.

56.

57.

58.

59.

60.

61.

62.

63.

101 310 2 3_5_1

5 10 10 10 10 10 2

The LCD of 1, 4, and 20 is 20.
1_1 3_20 5 6_9

4710 20 20 20 20

The fraction of the time spent on eating is
1

E .

2 _ l. The fraction of the time spent
12 6

watching TV is %

The fraction of the time spent doing

1
homework is 17

3,9_6,9_15_3
072072072020 4

The fraction of the expenses for benefits

is 3
orsalary|s4.
3,1_6,5_11

10 4 20 20 20
The fraction of the expenses for benefits

ISE.

or facilities 20

1,1_2_1

10 10 10 5

The fraction of the days rainy or snowy is
1

E-

1,1.1.2_3

105 10 10 10

The fraction of the days rainy or cloudy is
3

10°

3,1 _3,2_5_1

10571010 10 2

The fraction of the people who walk or
1

use acaris =.
2

72

64.

65. 1

66.

67.

68.

1,1_1,4_5_1
205 2020 20 4
The fraction of the people who bike or use

acaris i

1

~.3_.10_3_7
10 10 10 10

The fraction of the people who do not

7

10°

walk is =~

11

3,1_6,5
4107272072020
The fraction of the expenses that goes

toward food and tuition is %é

11 20001 —
b. (3000) =1650

The amount for food and tuition is
$1650.

3,1 3 ,1x2_ 3, 2_5_1
"10 75710 "5x2 710 '10 10 2
The fraction of the expenses that goes
1

toward food and room is 5

b. %(3000) ~1500

The amount for food and room is
$1500.

1,1 _5 2 _7
“4%'107 20720720

The fraction of the expenses that goes
7

20

toward books and tuition is

a _
b. 515(3000) =1050

The amount for books and tuition is
$1050.
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70.

71.

72.

73.

74.

75.

76.

1.3 .1 1x2 .3 . 1x
& 1072075" 10 2;20:5
20720720
_9
20

The fraction of the expenses that goes
toward books, personal, and room is
9
20°
9 _

b. 20 (3000) =1350

The amount for books, personal, and
room is $1350.

~1_.10_1_9
a1-95"10"10"10

The fraction of the expenses going
toward paying for everything except

.. 9
books is 10

9 _
b. 7%(3000) = 2700

The amount for everything except
books is $2700.

Multiples of 10 (hot dogs):

10, 20, 30, 40, 50, ....
Since 8 goes into 40, the LCD is 40.
10x 4 packs = 40 hot dogs and

8x5 packs =40 buns. Thus, you must

buy at least 4 packages of hot dogs and 5
packages of buns.

Multiples of 12 (buns):

12, 24, 36, 48, 60, 72, ....
Since 10 goes into 60, The LCD is 60.
10x 6 packs = 60 hot dogs and

12 x5 packs =60 buns. Thus, you must

buy at least 6 packages of hot dogs and 5
packages of buns.

Yes; answers may vary.
Answers may vary.
Answers may vary.

Answers may vary.

73

77. &

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

30=2-3-5

[EEN
o
[EEN
o

1. 1_3 _ 4_
876 24724

e
24

N

2,35_31

17
20720 20 %" 120

1. 7_
1074~ 20

12 10 45
120 7120 T 120

_12+10+45
120

1.1 3_
10 1278

_ 67
120

> _1 13

12 18 36 36 36

_15 2

3
10

1
12

36,
120 120 120
_36+10-15

B 120

_ 31

~120

10 15

21
1278

3,1 _4_2
1071071075
The chinchilla is eating too much or
et 2
little =
too little :

1.2 1 4 5 1
b 0" 5 10 10" 10 2

The chinchilla is eating either have no

of the time.

problem or act weird % of the time.

31_5-3+1_16
5 11 11
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3 _11-5+3_58
88. 511 1 11

7_86+7_48+7 _55
80. 65 ="t =B =2

90 710_11-7+10_77+10_387

11 11 1 11

Section 2.6 — Addition and Subtraction of Mixed Numbers

Problems

1. Method 1:
1,,4_28,22_50_¢c5
33299 "9 "9 9

Method 2: 9

2. Multiples of 6: 6, 12, 18, ....
into 12, the LCD of 4 and 6 is 12.

3_7_73_21 ,41_1-2_2

474743 12762712 %

3,1_21,2_23_411
BtsTn TR N

3. The LCDof4and 6 is 12.

51_21_21-3_63 4

4= 4 45, 2122
5_11_11
6 6" 62 12%°

51,1921 11 63,22 85 ;1

64612121212

4, The LCD of 6 and 9 is 18.
4l _32_25_29

6 "9 6 9
~25:3_29-2
63 92
_75_58
18 18
_17

" 18

Since 4 goes

5. 281012

214 5 6
2 5 3 sothe LCDis 2%-5-3=120.
13,93 51 _11 23 25

8 710 “12 8 10 12
_11.15 2312 25-10
8.15  10-12 12-10

_165, 276 _ 250
120 120 120
_165+276-250

120

_191
120
7L
- 7120

8 8
6. 2012 ft+15ft+2012 ft+15 ft

=202 ft+202 ft+15 ft+15 ft

3 3
=40%ft+30ft
=(40+1%)ft+30ft
=41%ft+30ft
_711
=712 ft

You need 71% feet of molding.
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Exercises 2.6

10. 3+4==7

|~
|~

11. The LCD of 4 and 15 is 60.
§=ﬁ=£and£= 2-4 :i-
4 4.15 60 15 154 60’
23,2 _545

45, 8 _,53
4715726080 2

60 “60

3,3_,24,15_,39
12 25+8=220"20 %40

13. The LCD of 10 and 12 is 60.

3_36 _18,,11_11.5_55,

10 106 60 ™M 127125 60"

3 .-,11_,18 ,55

Ho*%12 =150+ %60
_qf3_,,413_,13
=3%0 150 =50

4. 27 4136 235
14. 15+39_145+345

_q401
_445
—4.126
_4+145
_526
_545

15. The LCD of 4 and 6 is 12.
1%+2%=1%%+2%%-
=1%+ 2%
:3%

—341.L
—3+112

4L
=417

4,35_924,325
16. 24 +33=257+323

_c49
_530
-5.119
—5+130
—al9
_630

17. The LCD of 7 and 9 is 63.

1,31 _g1.9 417
87+39 87‘9+39‘7

_a9 a7
=831 %53

-1116
=112

1,53 _gl7,:38
18. 68+57 68-7+57-8

_al .24
=655+ 556

~113L
=112¢

75
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19. The LCD of 7 and 9 is 63.

1 o110 o111
911+310 9110 31011

10 511

=9710 %110
21
=12976

3.41_527 48 _35
20. 78+19 772 19 872

§_ §—Z|2—Z|l

3_
24. 53-2

25. The LCD of 12 and 4 is 12.
3l 41_37 53
12 "4 12 4.3
_37_15
12 12
_22
12
_u

>

k)
16

(S

1 45_10-2_
26. 33-12="7

N
=
N

~20_11_9_41
6 6 6 2

27. The LCD of 2 and 5is 12.
31 24 7-5 14-2 35 28_ 7

2 525 5.2 10 10 10

5_17-3

1 3 23-2_51 46_5
4776 43 6.2 12 12 12

28. 4

29. The LCD of 20 and 40 is 40.
1 _3 3 _81-2 123 _162 _123_39

20 T40 20-2 40 40 40 40

76

30.

31.

32.

33.

34.

35.

36.

g3 _79 _83-2 149 _166 149 _17

10 20 10-2 20 20 20 20

The LCD of 8 and 12 is 24.
31 5 _31-3 172

8 12 8.3 122
_93_34_59_,11

24 24 24 T 24

8 12 _585 123
°15 125 =°15.5 125,
40 . 6
=575 7175
34
=475
2160 48
2|30 24
315 12

5 4 sothe LCDis2-2-3-5-4=240.

13 o1 13-4 .15
360~ 348 3%0.2 2285

=392 3.5
240 ~240
_ AT
240

24 760 245 60-2
% _,14 _ 81 _27

~7120 7120 120 40

Since the denominators are the same, we
8,.2 41 8,2 1
have39+19 19_3+1 1+9+9 5
_3.9
—3+9
=3+1
=4
;L 3 2 7,3 2
4 +2 3 =4+2- 3+11+11 11
_2.8
3+11
_ a8
311
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37. The LCD of 4,12, and 6 is 12.

3 .1 .1 153,13 7.2
4312 62
_45.13 14
1212 12
_45+13-14
12
_44
12
1
3
_q2
_33
5 .1 -1 _17-3.28.2 7.6
3. 26+35723"%5379.2 36
_51,56_42_65_511
18718 18 18 “18
39. The LCDof 2, 3, and 4 is 12.
1 -1.,1_9.6 7-4 13.3
45723%33726 32" 43
2 12712
_54-28+39
12
65
12
5
12
1 4,3 ¢£1_11 7 11
40. 25 14+52 s 2t
_11.4_7.5,11.10
5.4 4.5 2.10
_44 35,110 _119
20 20" 20 _ 20
41. The LCD of 65 and 26 is 130.
1 .qd 42
35571026 155
1.2 1.5 , 2.2
=365.2"10% 5 1652
2 105 1.4
=3730 * 10735 1130
_ 2 .5 4
=3+10-1+755 " 130 130
3
=12+135
_19.3
=1273%

20

77

42.

43.

44,

45.

46.

47.

48.

7 .l .3
L5235 e
475,512 ;35
162 53552 625
.
310

310 310
_ .35 .2 15
=1+3-1+ 135 130 " 130

115

The LCD of 45 and 60 is 180.

11 11.4 44
4% Y51 Ym0
7 7.3 21
750t %03 +7180
.8 .84 32
45 ~°25.4 °180

33 .11

=18780 1850

The LCD of 26 and 91 is 182.

3 3-7 21
102 26 10967 26-7 10182

1 1.2 2
+591 +591.2 = 5182
1 1.7 7

°26  "26-7

182

16 8
=12487 182 =129 91

6 6
10110 9810 3

That is 3 degrees above normal.

gl _,1_25_

8 4 8

7
That was 3

9.-2_25 18_7
428 8 8

Ib under the average.

7l 47 212 47 22 .5
4673874 827 %8 %16
5

16 16
This weight is 1E Ib above the average.

54_9 ,20_29_,5
3 3.4 12 12 12
5
2

3. .2 3.3
+13= 12

1 =224

4.
She rode 2= miles.
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49.

50.

51.

52.

53.

54.

95.

1.3_52.3_10,3_13_,1
2ot a2t T a1 %
These ingredients total 3% cups.
3,5,1_78 .54 1
Yt 832 4884 32
56,20, 1 _77_,13
"Rt tRtHn TR TR
The result is 2% inches thick.
1. 5,1 5.1 512
4+22+3 4+22.2+3
_1.52
—4+24+3
=2%+3
_c3
_54

The total weight was 5% Ib.

1 3_10_ 2 3_5_1

"5°10 10 10 10 10 2
The fraction is %
21 . 9_20 5 9_6_3

420 20 20 20 20 10

. .3
This fraction is 10"

1,21 _ 5 21 _ g6 _g3
63+3107%10 %10 °107 %

Americans spend $9% billion on

newspapers.

463389 —463:2 333

5 710 5.2 10
—468 389
=4616 %10
_466_389 77 _o 7

10 10 10 10

Americans work 7% more hours per

week than Canadians.

56.

57.

58.

59.

60.

61.

62.

63.

78

1. 5,3. 975 .56
72+25+2 710+210+2

_gll
_910+2

_9.1 L
—9+110+2

—1o 1
_1210 hours

1,02_155 ;98 _13
155 + 9 =150 +9-5 =247

Pedro worked a total of 24%—% hours.

1.,1_42 _33
12+24_14+2 34

1
4

A4 1148 1114 1148 _5024
1175 +145 +1155 +14:5 =5057

=50+2
=52
You need 52 feet of baseboard molding.

A o84 1014 4084 _gglb
2175+ 285+ 215+ 28,75 =98

- 4
—98+112
=99lfeet
3
3,1 _27,1
38t4"8 T4
_ 27, 1x2
28 421><229
_20,2_29_45
=5 78"8 8
2,15_8,13
23+18 3+8
64,39 103_,7
24 24 24 24
2_45_8_13
23 18 3 8
_8x8 _13x3
3x8 8x3
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2,51 ,5_5,9 29 3.5 59 ,,10 19 7
64. 13+24 38 3t % 77. 24+36 212 312 512 612
_40_ 54 _87_ 7
24 24 24 24

78. 33 1L_345 14 54l

15 60 60 60

65. $31 ¢$1-932 gl_g3l per share
47788 78 8 5 7 1
79. 2=4+3—~-4—

97°10 "12
1 ol 2 ol qol
66. $2= -$==$2<-$==9$2= per share 5:20 5 7-18 4 1-15
4 g g g >8P =2920"%1018 *12.15

2100 3126 415
3 1 3 2 5 180 180 180
7. $623+$+=9$622 +$< =$622 per sh
67. $6 8+$4 $6 8+$8 $6 3 per share 211 31,8
180 180 180

5,61 _g575 .92 _g577
68. $57§+$Z_$578 +$8 $578 per share

1,151 3011516024302
80. 305 +155+305+155=60%+305

69. No; answers may vary. For example, —60L4+31
1.3_5 2
2 44 = 91% feet

70. No; answers may vary. For example,

1,,2_.3 ) 1
1§+2§=3§=3+1=4 81. El:l
g e
71. Answers may vary.
3
72. Answers may vary.
ey &_é_ji_jL
73. LCD 10 22‘ 40

74. perimeter
4 .15 _4 32 _128
83. E__ .94 _ 220

3,1 _,45, 4 _,49
> 24157 %0780~ 260

2
s 1 4 gs, 10,25 10 M _2
76. 35+2==52 " 33711 39 25 15
77777 st
Section 2.7 — Order of Operations and Grouping Symbols
Problems
1(3_1_.19_ 1 gsz;_i.;;
! a3(2) 12°347 12 b(3 39727739
~9 1_8_2 -1, 2_3_1
12 12 12 3 27 27 27 9

79



Chapter 2: Fractions and Mixed Numbers

Bello, Basic College Mathematics, 3e ISM

|

—

+ ¥

0 o (¥

— —

Il I
|

™

+
<

<

+ =
—|N

©

L_l
<

[To)

Te)

_ —
8_5 —_ —
S — 5

I | 9

S —
©IC ol T
: N~
™M M| 9_m N

Il Il Il
—_

O

+
|
S —

|
n|w©
m|<

<

I\

ol <o
|T
|
<
Il
—l|©
N~ +
N O
o .
% 7_\)
'S |
o NI
[ .
_._vm —
—
|
—| N 1__
+ —
—on —lN -
. —+ —| N - [eo}
M | + | Il
. ! —
O Hjon M AN
~ o I~ + N

~N 0 [QV] o o
Il Il Il Il Il
-
|
|
|T
M
|
allsp)
N~
~N

a

m|o
—|©
Il
o|o
—1|© H|©
+ +
o o
| »|3
Il Il
|
—Alm |
| .
—_ 1_3
—|N |
| —
=
m|N
R _ . ™M
| +
+ —i|N
1__2 —ico
—i| 00 oI
_ o™
—_—
o N
Al T
—_— Il
™

—i|N
—|™M
I

—~
\m

|l
IT

—| N

—i|co

—i|co
Il

<
|l
IT
|~
Il
o~
—_
—|N
S —
)
IT
|~
™
N|™M
Il
<t|©
Il
—A|N —|©
1 |
M
“ 0| ©
— Il
= do
—|Mm |
+ ™M
N+
— N

_19
84 84

12
84 "

™M

+1%+{27-(%)2 —[

—i|©

<

N|o

—|©
—

—i|c0

+

—i|©
—

—i|©
—

—|© O |w©

o
Il
o 3_0
| —|™M
| Il
Il 2_0
- _3
|
Tol[=)
< 1_3
<o I
I =[]
D |
—_
Lallsp) —| N
Il
|
N |0
—_ .
—| N ™M
— |
<|o —|N
© ~
N~
1_2
Il
——
| N|™
N +
| |~
LA NI I
+ + o|m
—|© «H|© +
— —

o o ©|r~
—|© «|© —|©
Il Il Il

10_1_9_3
30 30 30 10

80



Bello, Basic College Mathematics, 3e ISM

Chapter 2: Fractions and Mixed Numbers

9. 12+6—(
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1.,1 1.5 211481 11481
) Leal 1.8 _ 150 £ +1487 +1487
. 2 2 ! ’ 3
26 4 5 2
_10 _26_13_43 ;, 21010 o
2 20 10 10 B 3
11
44611
29 .04 29,14 -0
7 10775 _10" 5 3
5 2 4471
29,28 __10_
_ 10710 3
5 _ 4471 1 _ 4471 _¢1p0. L il
57 =0 3~ 30 _$14930 million
_10 _57 1 _57_»,17 5, 17 1 16
2 °102°20 ‘20 L —$149- = $34922
b. 349817 —s149 L ~ 534010
_ i -
40+41%+43 124% = 83493 million
28. 3 =— s 1 1
249 ZT85+75 4g
249 ” 45+82+72:45+16
=3 -3 3
_249.1_83_,41 208
-2.1-8_ sz _ s
3
103
29+32%+32% 29+%+% __5 103 1_g13
2 : _ J 3 5 3 15
290 , 325 | 326 4 o1 7 4 8
_ 10 T 10 " 10 T8+ T 65 +15:C
_ . - 65480+ 719_%5+15g
941 ’ 4 ; 4
_ 10 £ +15¢
10 :65+155
9411 981_g 11 3
=70 330 g P 21%
. . -3
6002 + 460 + 434 2. 113
5 10 5
30. 2
- _5
8 9 X
6003+ 460-+434.% 13.1_g8 nights
_ - 5 3 °15
17
R,
3
14,957
__10
3
14,957 1 14,957 0017 o
== '3~ 30 _$49830 million
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1 9 1
a 2010+2010+202

3

10 , 01

010+202

3

1

:41+202
3
1

%2 12311 401

3 23 2

hr per week

4,142,143
L 1351145 +144

3
6 443
275+l
3
12 443
27+ 14y
3
15 443
Mgy 43
3

U'IOJ

8

T hr per week

A
- 3202

4,04 1 8 101
%, 125+125+122 _245+122

3 B 3
3,101
_ 255+122
3
6 5
2510+1210
3
11
3710
3
1
3810
3
381
10
3
3811
10 3

7
_1210 hr per week

4 1 5 1
195+2110+205 395+2110
37. 3 3

1
4O+2110
3

1
6110

3
611
_10
3
_ 6111
10 3

11
=20== 30 hr per week

9 9 1 19
- 2310+2410+2510 210

7391
10 3

19
=24== 20 hr per week
39. Women 18 and over

40. Adolescents 12-17

(20)2 .(15%)

L2.G _
4l 1200 1%00
31
:400 5
1200

_6200 _62_31_c1
1200 12 6 6

The bass weighs about 5% Ib.

2 (20)°
© 3500 _ 3500
_8000 _80 _16_,2

73500 35 7 7
The pike weighs about 2% Ib.
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43. L.Gg> 30 (25)? 48. a. Both are right; answers may vary.
800 800 b. Answers may vary.
_30(625)
~ 800 49. parenthesis
_18,750 _ 375 _o3 L 7
800 16 16 50. exponential
The trout weighs about 23% Ib. 51. multiplications
" 12 (24)° 52. divisions
© 2700 2700 »

_13824 128 3 53. additions

T 2700 25 25

5 54. subtractions
The wallyeye weighs about 27 Ib.

3.1 (1 1 ) 3.1 ( 5 2 )
45. a. Divisors of 8: 8, 4,2, 1 8 12 \4 10/ 8 12 (20 20

_3.1 (7)
_8+4+2+1_15_,3 Sy
b. Ag 1 737 “8712 |20
4 _5.2_(1)
C. Ha_l+l+l+l 8 1 \20
8 421 9_17
4 2 20
"1 . 2.4.8 83_,3
gtgtg's 200 20
_4_4.8_32_,2
15 115 15 15 J111.1 4.9311. 1
8 . 9+3-337327 171133127t
3,2 _15 32 _2711,1 4
d. A;-Hg= 342154158yes 1’3373
46. a. Divisors of 16: 16, 8,4, 2, 1 1 31 2
b. Ale_16+8+4+2+1 3l_pl =3+§—1
5 5 °5
5 1 _q1-5_o1
C. Hyg = 2 )
1.,1.1.1.1
16 8 421 ,
= ) 57 l.(§) 2119 1
1.2 4 816 3\2) 18 34 18
16 16 16 16 16 3 1_21 2_25
~5_.516_80_,18 4 18 36 36 36
31 131 31 “31
! 1,211 21
d. Ayg-Hug =337 =161 yes . (3) +55-3+55
5 3l 1.2 3 1
:—+—:_:_
27 27 27 9

47. Answers may vary.
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3
1y°.11.1(5 1) 1.1 2l,gl,31 41 g9l
59 (3) 3 9+2(3 3) 372 61, —2 44 2" 4 _ 42
3
(1) .11, 1(4) 11 1
‘(3) 3 9+2(3) 372 155
:L;l.lJrl(i)_l.l 4
27 397 2\3)7372 31
131 1(4\_11 =2
‘2719+2(3) 372 3411 ,
11 (41t =54=3%%
99 2(3/732
-1,2 1 62.  x+5=17
813 6
X+5-5=17-5
81781 6 =
_55_1_110 27 _83
81 6 162 162 162 63.  x+7=13
X+7-7=13-7
1,41 1\ [1,(,1 1 x=0
o b2 (3 {33l g
TSN PP A ] —X=—7
_7‘17+{12 (2) _4+(2)}} =1
1.1 1\ "9} 65. 15=5x
Lol (L) |2
7 7+{ (2) _4} 15+5=5x+5
. 3=X
_1.41 )
_7.17+{12 4 [4_} o .
. =X=
_1.41 /5.9
_7.17+{3 4} 2_X4=6
:l+§+{§ 24 — 6x
77774 4—x
17, J31_1,3_7
=7 8+{4} 8748
Section 2.8 — Equations and Problem Solving
Problems
1. a. n+5=6 1.3
b. n-8=2 2.8 N+y=g
c.3-n=12 1.1_3_1
4724754
n=d2_5 _ 7
20 20 20
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o

~

o \L|—Q ~N|o

N Olw gllw
ol ol

~

Il
I
gl

w

Mmlm
5

=)
Il
[EEY

a1

olu|R

>

n=

N~
[N

87

1_
7. 13=3

] pints cost 60¢

1 pint cost 60 = 5 —1250. 4 _4g¢

1

Thus, 2 pints will cost 48-2=96¢.

1_19
8.63 3

1_3

minutes to go 1= == miles

2 2

In 1 minute, the runner goes

3.19_3 3 _

273 219 38

mile

In 12% 338 minutes, the runner goes
z-£=3 miles.
3 Z
9. %+%+%+c 1
%+%+c 1
10600+~
106100

_100_25 _ 75 _3
100 100 100 4

The fraction of coin that would be copper

is 3
is 3.

Exercises 2.8

1. =

2. +
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

+

3 ool |-

Il
|l Nw

3

+

o~ 3

|

Il
N~
B

0|

7 17
56 56 56

gl
J’_
>
Il

oW oolw
N
o|\‘

=}
Il
|
gl

88

23.

24.

25.

26.

27.

28.

29.

o
+

+
- g aN gilN

©
+
|

gy o

>
|

x Ol
1l
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1,12 1_
30, Z-n=1% 34. n-22=6
1.,.5 5_
> n_3 n > 6
. 5 n:B-Q:Q
n =4
%_zg 5 5
% 1
2 35 n-Z%:6%
nzé.gzﬂz:gl 5 25
313 °3 5_25
N"27%
1 1 n- 25
31 13-n=73 52%
3 15 g 5
2 "7 2
1
g/n E nzs/zg.z—:§:21
£_-2 A By 22
3
g ° 1_.1
5 36. n-1==3=
Z Z n.4_25
3”8
25 3_75_,11
32. 12.n=27 =% "713-%3,
8 8
13,23
8 8 37. 11.n=42
. . 3 3
-n 23 4 14
-= EY
1 13
8 %/-n 14
L _3
h_23 8 _23_;10 =
g 13713 13 }{ 3
G B 7 a1
) _ _1_
3. n-1£=4 4 A, 272
5
n-==4
3 2,241
38. 3E-n=47
n‘g . 17, 17
— =% 5 174
g 3 G M 5 5 41
NIET 437 4 4
5 5

89
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39.

40.

41.

42.

43.

151
1822n

9.
8

1
g
g

>

Let ¢ = length of the loaf

(+16= 22;—12

B
16 2 17,

%.%zﬁ.%ﬂ

=30
The loaf would be 30 inches long.

1_5 i_17
2 5=% dozen pancakes calls for 3 5=%

cups of milk. Therefore 1 dozen pancakes

callsfor——§ r.2_1 12

2°2 25 5 °5

milk. Thus 1%:% dozen pancakes calls

cups of

B 7_7_,3 :
for Z-E_Z_lz cups of milk.

1_ 7_15
2= 5=% 5 dozen cookies calls for 18 B
cups of flour. Therefore 1 dozen cookies

3
calls for ’% 'Z = cup of
4g /gl
flour. Thus 1%:% dozen cookies calls
4. 3_ -
for 32 1 cup of milk.

90

44,

45,

46.

47.

48.

49.

_8
3 3
popped popcorn Therefore 1 popcorn

8.1_4
32323

popped popcorn. Thus 5 popcorn balls
4_20_p2
5. 3 6

2 popcorn balls calls for 22 cups of

ball calls for cups of

calls for cup of popped

popcorn.

20 people ate 15 Ib of ham so one person

15_3
would have eaten 0-4 Ib of ham.

Thus, 32 people would have needed
8373 _ 24 pounds of ham.

1
27 rose bushes used 9 Ib of peat moss so 1

9 1
rose bush used = >7=3

Thus 30 bushes would need 30 %

Ib of peat moss.

=10 Ib

of peat moss.

1_9 i 1.3
42 2mlnutestogol2 >

in 1 minute the runner goes
B2
Z 4

7% =% minutes the runner can go

15 1

km;

km Thus in

= 1km.

N

Zl

1_13
622

13_,6.2_ 1.7
26+ > =26- 13—4(I:.Thus32—202

would cost %-4 =14¢.

0z costs 26¢ so 1 0z cost

31:E Ib costs 91¢ so 1 Ib cost

=791

1_5
=28 ¢. Thus 22 >

1/3‘1
28" ~710¢.

Ib would cost )

Z
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50. $225 is earned for 37%=7—25 hr of work 57. a. %
215 _905.2 _gp i i 1
S0 225+ > 225 = $6 is earnedin 1 b. 3
in 461 -93 21161 2 _3_1
hr. Thusin 462_ > hr you would earn c. 1 6§3°6 6 6°6 2
16-936_ A
4626 > 6=%279. d.502 25 1b
_12_25 12 _13 3 1_7,¢,3
51. 1 55 = 95 25 = & 58. a. 14+8+12 4+8+2
The fraction of the patents that were _71,32.6
foreian i 13 4 4 4
oreign is ¢ . _45
4
1
3 7 112 =11 cups
2. 1700 100 525 :
(100 3 7 20 48 _22 _11 b.111.8=45 . g 00 oz
100 100 100 100 100 100 50 4 1/(
The fraction of the patents granted to
.1 C. 90+20:%=§:4; 0z per serving
other countries is == . 20 2 2
50
1, 1,1 ¢g,3,6,4
53, le%C+32 59. a. 6+4+2+3 6+12+12+12
9 5 —6+13
:3% +32=45+32=77 12
. . =6+1i
The temperature is 77 degrees Fahrenheit. 12
_7L1
_ 5F 160 =Tz cups
5. C= 9 1 85 2170 2
b. 7-7=-8=—"=-8 ==+=56% 0z
_5(68)-160 _340-160 _ 180 _ 20 12 s g 3 3
o 0 " 2 170 1 _17_.2
The temperature is 20 degrees Celsius. C. 565—10 ZT'E =3 = 5§ 0z per
servin
55. F =%+39 J
=%+39=30+39:69 60. 250+62%=250+%
The temperature is 69 degrees Fahrenheit. = 2250 - 2
125,
56. a. F=C_44O+50 —4 f°
_120-40
=== 0 61. 138L+421_1105.85
80 8 2 8 2 .
=5 +50=20+50=70 _ P05 7 _13_3lgs
The temperature is 70 degrees 4/8( ;351 4 4
Fahrenheit.
b. Yes; by 1°F.
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62. 229 - 49%) 299 - 124;’8 70. Answers may vary.
=3 297 . I _ 4 143 71. Answers may vary.
JAé 2

72. Answers may vary.
63. 18-63=18.33 -394 _1184

5 5 5 5 73. Answers may vary.
64. From exercise #63, the weight of the 74. a+c=b+c
L. . 4
gasoline in a full tank is 118—Ib. 75 a—c=b_c
297
43_%59 3 891 1
1185 3=—¢ e =89:51b 76, a.c=b-c
77. a+c=b=c
65. 45+ 4%—45——: 545 .2 10 ¢loz:
/gl 3 ,_al
78. g'n—3z
66+5L—66+11—656.-2 _12¢/0z.
2 2 ] %/.n 13
4
The 4; oz item is the better buy. T T3
[
1 g 2 _13.5_65_55
66. 28+37 = 28— 2 - 1_8¢peroz =312 -°17
33+51-33-11_334. 2 _g¢ per 1_.3
2 79. n-1==3=~
1 2 4
oz. The 5% 0z item is the better buy. n.g 15
_~_4
g 3
67. 70+ 3%—70 1_124.2 _20¢/oz: 2
1
: no X Z 5 51
98+4=499€-A=4—29=24.5¢/oz. The A A2 2
2
3% oz item is the better buy. 80. % n=6
1 4 g'n
68. 36+45=3 -— 36 -2 =8¢ per oz _6
/gl %/ 2
39+5- 39&13 _7¢-78¢peroz 3 ;
_3g. 3 _
The 5 oz item is the better buy. n= K Zl_g
69. 33 5; 33+ 11 ~334._2__6¢loz: 81. a 3-n=
1 b.n-5=2
29+5=29.1 §_54_58¢/oz The C.Nn+8=7

5 5 5
5 oz item is the better buy.
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Il
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N
Il

83.

[N}
N[~
w
Il
=}

& ~|on

Y

R
N“-"‘
&
5]
I I
=} =5

©
~ o Y
Il
5

1 3

2
=52¢.

cost 78——_ 2 2¢ . 2
2,

pints would cost 2-52 =104 ¢ or $1.04.

84. pints cost 78¢ so 1 pint would

Thus 2

1.3
2% 22

3 E

85.

3 Z_3
=17 mile in 1
Z 17

minute. Thus in 17 minutes she can run

w3 -

—_ =3 miles.

i

185 — 200

she ran

86.
87. 185190

88. 3285 — 3000

miles in SLzﬂ minutes means

93

_2.3.1 1(19)\_1

=4 4'3+[(56) 4}
_2.3.1 |5

=4 4'3+[56}

3.1, |5 |_g.5_95
=3 3+[56J 9+56 =956

Collaborative Learning — Chapter 2

1. Answers may vary.
2. Answers will vary.

3. Answers will vary.

Review Exercises — Chapter 2

1. a. Proper
b. Proper
c. Improper
d. Proper
e. Improper
22 22 1
2. a. = =3 with remainder 1 so £~ = 37
18 18 _,4
b. = =2 with remainder 4 so - 27
29 _ 29 _g2
C. 3 9 with remainder 2 so 3 93
14 _ 5 i - .14 _22 41
d. 2 =3 with remainder 2; 2 34 32
19 19_,8
e. 11 =1 with remainder 8 so 1 111
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1_2x4+1_9 18 _6.18 _18+3 _
38452557 © 30°5 30°30.3"10 M
1_3x9+1_28 missing number is 10.
b.3== =22
9 9 9
1
c 42_5x4+2_22 2 a4 72z
5° 5 5 R o e
d 83 _14x8+3_115 A
C14T T 14 14 b 8.2 /3(_2
o 77 _8x7+7 _63 97 3.4
'8 8 8
¢ 142 /:z
80 " 35 5/ 5
4, a.P/Eratlo-10 8 48 ZZ 2_
" 28
b. PIE ratio=%:10 22T
e 10_25 /5’4
c. PJE ratio = 52 = 4 95~ g.19 19
d. P/E ratio = 80 =2 8 _ 92 _ 52 a2
: 40 . a.12=22-3and36=27-3
.80 _ 2 12 _12+12 _1
e.P/Eratlo-E_S GCF=2".3=12; 636123
b.10=2-5and 50 = 252
4_2.4_42_38 isci
5.a 3=¢i 3=3.5=¢ Themissing GCF=2.5-10: %zé
number is 8. , 5)2@/
p.3.2.3_35_15 The missing C.18=2-3"and 45=3-5
5 25'5 55 25 GCF = GCF—3? =9
number is 15. 18 18-9 2 '
c.g % 328_22%_ The missing 45 45:9 5
_ 92 _
number|524 d. 28=2°.-7and 42=2-3-7
14_7.14_14-2_28 GCE=2.7= 14@28142
d 21 42 20212 42 e 42 42+14° 3
mlssmg number is 28. e. 51=3-17and 34=2-17
3_7.3_36_18 51_51+17 _3
e.9 54 9-96 54 The missing GCF =17; 34342172
number is 18.
6_2.6_6:3_2 5 a‘%'%Z%
6. a =9 21~ 21-3"7 The missing , /5/ )
number is 7. b. g'§=§
8_4.8_8:2 4 o
b. 10 ' 10°10-2"5" The missing . 1'121
number|55. 7 4, 3
18 _6.18 _18+3 _6 o . 3
C-24=7 24" 24:3 g |nemissing 4 A B =%=1%
number is 8. 1 2

OI24424 24+6_4
" 48 484826 8°

number is 8.

The missing e %.gzl
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.8=2%and12=22.3

LCM =2%.3=24

.15=3-5and6=2-3

LCM=2-3-5=30

.18=2.3%and12=2%.3

LCM =22.32=36

. 2|20 24

2110 12
5 6 LCM=2-2.5-6=120

. 2|54 180

27 90
39 30
3 10 LCM=2-3-3-3-10=540

W

. Since 33 is a multiple of 11, LCM = 33.
. Since 34 is a multiple of 17, LCM = 34.
. Since 57 is a multiple of 19, LCM =57.
. Since 40 is a multiple of 10, LCM = 40.

Since 92 is a multiple of 23, LCM =92,
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18. a. 12=2%.3and16=2*

19.

LCD=2%.3=48
7  T7x4 28. 3  3x3 _ 9

12 12x4 48’ 16 16x3 48

.15=3.5and 9 =32

LCD=3%.5=45
2 2x3 _ 6.5 5x5_ 25

15 15x3 45' 9 9x5 45

.16=2%and18=2.32

LCD=2%.32=144
S5 _5x9 _ 45. 5_ 5x8 _ 40
16 16x9 144’ 18 18x8 144

. LCD=7-5=35 20.

3_3x5_15. 4 _4x7_28

7 7x5 35°5 5x7 35

.9=3%and15=3-5

LCD=3%.5=45
5 _5x5_25. 4 _4x3 _12
9 9x5 45’15 15x3 45

. Multiples of 6: 6, 12, 18, .... Since 12

is a multiple of both 4 and 2, LCD = 12.

3_3x3_9.1_1x6_26.
4 4x3 12 2 2x6 12’
5_5x2_10

6 6x2 12

2|12 9 8

2‘6 94

33 92

132 LCD=2-2-3-3-2=72
5 _5x6 _30.1_1x8_ 8 .

12 12x6 72’9 9x8 72’

3 1LCD=2-2-3-4-3=144
13_13x9 _117. 1 _1x8 _ 8 .
16 16x9 144’ 18 18x8 144’
11 _11x12 _132
12 12x12 144

96

_3x9_27 21.

o

134

. 2]10 8 12

N

546
52 3 LCD=2-2-5-2-3=120

1 _1x12 12 . 3_3x15_ 45 .
10 10x12 120' 8 8x15 120°
1 _1x10 _ 10

12 12x10 120
LCD=5-9-8=360

1 _1x72 _72. 4 _ 4x40 _160 .

5 5x72 360" 9 9x40 360

1_1x45_ 45
8~ 8x45 360

1 3. _ _

3 and 10" 1x10=10>3x3=9 so
1_3

3710

2 and 3 2x7=14>3x3=9 s0
3 ad 7

2_3

377
%zmd%;4x7:28>5x5:2550
4.5

577
-%ami%;2x7:14<9x3:2750
2_3

9°7
3 and 2 3x32=96 >8x5=40 s0
g A 35>

3.5

8”32

1.2_3

57575

2,1_3_

373737 ¢

3,1_4

77777

2,1_3_1

9797973

7,9_16_

7t 8
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1.5 1.2 5.2, 5_7_41
228 346326676 6 16
1,1.19,15_9  5_14
b 5+9=59%95 25714~ 45
3,5_36_ 57
C7t6 76767
_18,35_53_;11
42 "8
g 1,9 _110 9.3 _10 27_37
5207610720360 760 60
2.3 _215, 37
& 7t155°715%15.7

_30 _ 21_51_17
=105 7105 105 35

15 16 _15-3 /16-4
23. a. 4+3 =73 +—3‘4
_45,64_109 g1

12 12 12 ‘912

7.5 73,52
b. 2+3=23%32
21 .10 _

o w‘
w

[y

Il

(¢)]

H

+ J>‘-lg CDl
+ [
518 o

33_101_¢5
16 16

16
13-3
9

+

1
3-3
3

9

©
(ee]

_58_
96

o
5
+
[
I
ol ol 5P »
TN

O
-

+

i .8
9798

1,152 _233 _417

272 T T2 T

o3
©

oooo
©

24. a. 2|7 6 12
373 6
71 2 LCD=2-3.7-2=84;
5,1,1_60,14 7 _81_27
77612 8484 84784 28
b. Multiples of 12: 12, 24, 36, .... Since 4
and 8 go into 24, LCD = 24.
3,1 1. 18 3 2 _23
478 12724 24 24" 24
c. Since 8 and 4 go into 16, LCD = 16.
5,3,1 10,12, 1 _23_.7

—_ _+_ == _= —_

8 16 16 16 16 16 16

97

25.

26.

d. Multiples of 15: 15, 30, 45, .... Since 5
and 6 go into 30, LCD = 30.
3,2,1 18,10, 2 _30
576%15°3030"30 30 "

e. Multiples of 12: 12, 24, 36, 48, ....

Since 9 and 4 go into 36, LCD = 36.

6,2,1_24,18 3

$atiI % 3673
_45_,9 41
"3 36 4

a. Since 8 is a multiple of 4, LCD = 8.
7_3_7_3x2_7_6_1
8 4 8 4x2 8 8 8
b. Multiples if 18: 18, 36, 54, .... Since
36 is a multiple of 12, LCD = 36.
11 7 11x3 7x2 33 14 19
12 18 12x3 18x2 36 36 36
c. Multiples if 16: 16, 32, 48, 64, ....
Since 48 is a multiple of 12, LCD =48.
7 5 _7x4 5x3 _28 15_13
12 16 12x4 16x3 48 48 48
d. LCD=7-5=35

5 3 _5x5 3x7_25 21_ 4

7 5 7x5 5x7 35 35 35
e. 327 24
9 8 LCD=3-9-8=216
16 5 _16x8 _5x9

27 24 27x8 24x9

_128 45
216 216
83
216
1,1_2.1_3
S R S R
b 13 ,1_13 25_38 19
100 "4~ 100 7100 100 _ 50
1,13 _10,13 _238
¢ 707100 ~ 100 " 100 ~ 100
1.1 1.25_26_13
d25+2=850%50 50 25
e l,1_5.1_6_3

"10 '50 50 50 50 25
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27. a. 4l+3l=§+ﬂ

28a.

28b.

576 5 6
~126 9 _221_o11
30 30 30 30

b.2ly3l_7,37

3723 12

28,37 _65_g5

12 12 12 T12

c.43,32_44,31

77°8=%77°,
_32.,13
~ 7
_128,91_219_;23
28 "28~ 28 28

53+23=18, 01, D 672

379 3 9 9 9 9

32453 _-29,63

8§ 12 8 12
_87,126_213 g7

T247 24 24 "8

23 8_69 64_5

T247 247 24
_50 24 _26_,11

~15 15 15 15
48 35_13

~15 15 15

_29_184_145_39
8 40 40 40
14 135 112 _23

72 72 72

o Wi~ Ol

©|

22,31 o1 _23,25 21

8 10 9 8 10
_ 920, 1125 756
360 360 360
_1289 _ 3209

- 360 360

35,31 ,1_32,19 21

10 9 6 10
_320, 285 189
90 90 90
_ 416
90
_208_,28
45 45

9 6

29.

c.42,31 p1_41

o

D

(op

o

o

D

37 17
912 8
_328 222 153
72 72 72
_397 _¢37
72 72

5 .1 .1 _50.37 13
59 t327% "9 T 12 6
_ 200,111 78
36 36 36
_23_g17
36 36
5 .1 .1 _59.25 13
693872698 B
_472 225 156

9 12 '8

72 72 72
_541_,37
72 72

1. 51 41 51 _g2 492
.44+52+44+52 84+102

_gl
—82+10+1

—g8l.11=191
=82 +11=192 yd

1 41 21 41 52 g2
.32+43+32+43 62+83
_ 2
—6+1+83
~—7.82_152
_7+83 153yd

1. 21,41 1 o2 2
.4§+5§+4§+5§—83+102

=8%+10+1

_82.,11-192
=82 +11=19% yd

1,61 21,6l 62 492
.3§+5§+3§+5§—62+103
_ 2
—6+1+103
_7+102-172
—7+103 173yd

1 5,,.1 5_ 41012
'3€+2€+35+25_106

=10+2=12 yd
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1,41 Joa (2 _[2, (sl 1 3lig1,51. 71
C'4'14+{24(2) [3+(52 )}} 3.0 -2 4 "2 4

2 4
1 .41 1\* 1 2412
—Z—lz+{24-(§) —[§+(5)}} 252+4114
2
_1.,1 (1) |1 1
=2 14+{24 (2) [53}} :5+1+112
4
141 { 1 [16}}
—1.41 0541 |16 1 35
a4t 4 s Mo 2 _35.1.35_,3
_1.5, 6{&} 4 4" 248 78
AR 4151, 31,41
:l+§+{2} b2 4 "27"4
474713 4
_1 A, 2_1.2_13 72 4132
45737573715 -2 14
2
1..1 (1) |1 (g1 1 1
d 3 13+{28(2) [3+(62 2)}} 7+1+132
1.,1 1\* 1 ‘
191,008 (1) 11,6 1 43
3 3+{ (2) [3+( )}} :21_2=L:_312§=5§|b
- e g 4 "4 2478778
191,008 (1) |6l
33{(2)[3:'} 1. 61,41 91
c.52+64+42+94
1,411,178 ;—[E:l 4
3773 473 2 .22
92 +15%
zl_é+7_[ﬁ} =2 4
373 3 4
1
=l+ﬁ+{2} 9+1+15§
37373 2
1A 21,21 sl 51
g 4 3 43 12 __2_2_511_51_4x3)
- 0T o1 1 4 4" 24"8°°8
¢ §_1§+{32'(§) ‘[5*(75‘5)}} 61+714514101
4 2 44 2",
b fedf o)
_1 91 a0 (L) |17
22 { 2) 15+ 112 +172
: 27y
1,1 1 1 4
:_+1_+{32.(_) —H}
2 2 2 3 11+1+17%
:l+1l+{32.l—[2}} -4
2772 47|73 1 e
291 99
_1.3, 8_[2} —_2_2_591_59_73,
2772 3 42 472478 's
_1.3.12
‘2‘2*{3}
1 Z. 2 1.2_
=7 373737371
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v_>5 6 o
d. 5=7 e. 5 n=12
V_5
g-L=2.6 n
BT g_zg
30 2 6
v_7or47 g 5
v_»6 2
e T=9 n_,]_/fﬁ/l_lo
7.v_6 7
77 37 1 _4 12 7 4
V=6 40- 8 1=55 700 " 25 =1 100 100 100
_1_23
39.a. +.n=8 100
2 _100 _ 23
Z.%.nzg.z 17070 100
n=16 ~100
2 _6_ 7 _2_4.24 7 8
b. 3-n=4 b- =25 ~106 " 25 =1 "100 100 100
.39
g-n 4 100
T T2 _100 _ 39
g 3 100 ~ 100
_ 61
n="4.3 -6 100
Z L, 7. 7 3, 28 7 12
e 3.._27 77257100 25 © 100 100 100
"5 _1_A7
. 100
A _21 _100 _ 47
=3 100 ~ 100
% 5 _53
100
5
n=127 =45 418 7 4 _ . 32 1 16
1 77257100 25 © 100 100 100
d 2.n=14 _, 55
7 ~77100
%.n _100 55
£ _14 100 100
2 _45
7 100
9
' 61.9 7 6 _, .36 7 24
77257100 25 © 100 100 100
67
~100
_100_ 67
100 ~ 100
_33
100
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Cumulative Review Chapters 1-2

1.

2.

10.

438=400+30+38

900+80+4 =984

. 74,008: Seventy-four thousand, eight

6710

8649 — 8600
1
2776

+ 903
3679

412 514
682 , BB2
-498 ~ -498

4 154

12

36

137
x 319

1233
137
411

43,703

310
x 12

620
310

3720
The total amount of money paid is $3720.

34

26889
78

109

104

5

Answer: 34r5

104

11.

12.

13.

14.

15.

16.

17.

18.

19.

21.

22.

23.

224
212
2| 6

3
Thus, the prime factors of 24 are 2 and 3.

180=18x10
=2x9x2x5
=2x3x3x2x5
=22x3?x5

22 x4x7° =8x4x1=32x1=32

36+6:-6+8-4=6-6+8-4

=36+8-4
=44-4
=40
26=m+3
26-3=m+3-6
23=m
21=T7x
21_7x
7
3=X
% is proper, since the numerator is less
than the denominator.
1_g1
2_5
ol_4x2+1_8+1_9
4 4 4 4
2.18.2_2:9_18 issi
379 3 9= 97" The missing
number is 27.
10_Zx5_5
12 7x6 6
3 5 _ _
Zand 5 3x6=18<4x5=20 so
3.5
476
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24.

25.

26.

27.

28.

29.

30.

11119 19 .1
2%3°23°% %
(Z)Z.L_(Z.Z).L_E.L:L
6/ 297 \66) 49 36 a9 36
6.41.6.4_°8 3 _9
77877737 4,14
LCD =3-10 = 30
1,43 _22,93
3790310
2210, 933
310 '10-3
_ 220, 279
30 ' 30
_ 2204279 _499 _;+19
30 30 30
1 ,8_57_17
871979
_57.9 177
7 7
513 119
63 63
_513-119 _ 394 _ 16
63 63 63
_6_4
27779
_6.6_4.6
A 25%754
Z:§+§
,_28+54 _82
63 63
Let n = the number
9._¢c1
10"~
9.,_26
10" 5
26
%”_i
9
o 10
1_26 ﬁz_z 7
I 9 9

The number is 5%.

105

31.

32.

33.

34.

35.

36.

37.

e Ib cost 49¢ so 1 Ib would cost

3 2
1917492

N[~

=14¢. Thus 8 Ib

7.
would cost 8-:14=112¢ or $1.12.
i _g4l.62 41 62
Perlmeter_43+63+43+63
:201+2-§1+2
:20%:20+2:22wnm
_(41).(62
Area _(43) (63)
_13 20 _260 8
339 28 sg. yd.
16=2%and 20=22.5

LCM =2%.5=80
Since 76 is a multiple of 19, LCM =76.

9=3%and12=22-3
LCD=3%.22=36

7_7x4_28. 5_5x3 _15
9 9x4 36' 12 12x3 36

210 6 5

5535

131 LCD=2-5-1-3-1=30
7 _7x3 _21. 5_5x5_25.
10 10x3 30 6 6x5 30’
3_3x6_18

5 5x6 30
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